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Bl & 25T TR R R A E B 18] 32 Y H B8, 3B AE 22 br T 2 A b i
BRBEREE, KFERIFHE ARZAWEEGHEBIERE, EILFEE, 2H
KFFIEN NEF AT RS NEE RSB #H1T 7JLIKE R
BOSHETH, 2ERFHEN AREZEASWE TRTFRELEN ASALEIR
FAHBR IR &), Fop 0T 7 3R T RE SR AT A R AT S 3H %5 (Spot Dic-
tation) ; 11 45 A9 55 VO ¥ 43 AT R 2R A “ #3107 (Translation from English into Chi-
nese)o 96 £ 8 A, 2 E RFHIEIW SHZE AN TEHFG SRR &0
5" (Compound Dictation ) F1“ 18] % ] & [8] & ” (Short Answer Questions), M &
REHTAGRERY , A #b 38 13 2% 3" R0 “ an ] BRASAE B 5" B S 102 A A A R T )
PN (R, DA 25 A 7 A 6 A B (8] PN A K P2 BE 4R /&5 S8 /K T F R iR RE 7 , 3
THR B BT R T HF RO R AR EEKFEIEN AR EIXE R
SR ERZEFE N ARFRRP XD FEZXORCERS T (B K¥
RELAZH)IXES

- FERFERBE A=, B—Ho HERABE, B850 BN
BT, AE LRSS PR TR, F=8a W HE,

HEREABE, BRINELERT UT LA E L, RIVREELFET A%
R SEPME O, B B, 7E IR 2 H 7 A T B A =W B A 1 4 1)
BEVESEHBR, KWK, EJLEERAEF A KT REE, Bt RNTEH
REFRAT R T Bl & AR EZ LRGN AR S . FE, RN A Z5 4 &8 4
gﬂ']ﬁfgﬂﬂj’iﬂﬂ:%‘?*ﬁﬂ’ﬂﬁﬂﬁ,Dﬁ’/"Ti&Wjﬁiiﬁ%iﬁ*?ﬁ’}‘tﬁﬂﬂﬁiﬁ&
A RIEBEEEFEBHNRNES, REREHE XA, B
FAMRLRER 7% B N EESMOIRPIZRE, BA —E WARRERBURE. BEW
{E R RS FE#M , B ITERNBITSE $, ,

BATHE, REZENALERA S, FREEE R ST RS, %%
MATWES, M E, ~ESWBRE B KT, AT AR EN RGNS
{50, B ABBEEZRANE D .

ABEBXMNRRSMEEN ARERXNELE, LEHTHREAEER,
TOFEL .EPT &HAME A,

HTEER, mEKFER, MER5HR I, BiFEHE P A IEE
1E,

% &
2001 4 1 H



REHEFHARERLBEGREREB

— AEERXANE
(—) KEXREN . AEEANE

KFRENFEAEEREZERRSEER, TR AMERKE LS, BAEEE IR B
R B IR RS A TR M BE R R MECE R TR, 1995 4-LAHT, B E A A R
%ot B, R AR IEW 138 HE A 5% S X SE %% (CET—6) LA E 5 B AL .
1995 7 AB , EER¥IEN AREREREXBEAFTTHE HEES WESAEGANE
XUMHTEE, BN~ HIRTHERFREHEANE,. ST AR LRW M5 A BIR H 1%
BHEMPRLE, FRERSHBHEHANESHSHANEUT:

1. KEFIFN AEEAELEER (6 F)

BHRBRIERBIEN NI W R M IR 5B RS W BB
HMXEEM/REEME. 2B ERIFSE %S .

F—EE0: IR AHIER (Part [: Listeming Comprehension) :

3t 20 M, % At A 20 4r b, X—EAOREE A T (Sectlon A)TF 10 B, BB & — A4 of, £
L EEH N, REEEONAN RS R ER ERHYLE. BT (Secton B)E 10 8 ’i%’ltz
HESRWHME(KEA N 100 MEELA)ZE, BRER ZENEM, S8 N- M h

W HESHEITEEBEY IS BOER, ELFENKREFRAEHGENNESF TP EL - &
FEAR. FHEMEETR LY 120 F/08 , BN 150 - 170 8 /35 (LR XA B # A RE S
Fr8h 150 — 170 A0 AR —248) , &—3H . S IR

D XERINAEESTH—BUE, D TEHNNAETRE R

2) FERUTAMB ARG BT ARKE RBE Y PR

3) T RHAIEAR B U K WE R ONRAE IR, 07 BRI R B AR A KB D
KIERMAES .

FEZES RNEIEM (Part 11: Reading Comprehension) ;

320 81, %R E) 35 Srdh, BRBAE T 4-6 B, S8 ARSI 1200 8 (P94 ) 8 1400
F(AR), BREXEE 4B HENBEXERNFNEEN M EERPESL —-PRESE, &
e RN E . . .

1JBHIE, TU@.—?EA%%}E HE UL BEAR FIEEIRS BRITS L HEF AN E
KA TR

2) JEREH, T AESUR UL BGE %,

3 XEMEEFHEPS, DB L GEERALRIE, B HF KRALROENTER, A
U B3

 REEMT FEMRTRES:

1) B R E 5 AAE;

). THRIABEEMKEHNELSMAEN;

3) BEEMFmAESD, BRI AT B P T —E M AL

4) RN TFHEN  UEB ETXMNERXF,

BRHEIBAEAT M B MR B A BN PRSI B ABE T R R, (h R — e A

B =84 181E B HEFNIE F 454 (Part 111: Vocabulary and Structure) :

36 30 £, %K &) 20 7r4h . PIZLAE E R 40% KA FIE AR A, 60% AIE RS . AR NRIE
*E}io EREENGENNEFTPEE — P RELSE.

ﬂ%m%fﬂm&#f@”ﬁﬁﬂﬁE%%@ﬂﬁ%ik)ﬂﬁ]f REKBRERNE ST, FREEARHR
FXRALRRBELENE—REDN ARNETARE,

F IS : TR (Part 1V: Clo7e)

3t 20 B, WAL 1S 60, 7E— BT IR B IE A0 4 30 (4 200 ) B R 20 5 B, B
?EEU-J B EE8ENNERT, EXEEELTERNFNER LEF-1BEER, B8 InER
MUK E TR . HENARAEEMIANEL LA, REESEANENRMRFESESEMIESTH

_I_



B,

FERESD : B4E(Part V:Writing) :

XA EREBF LU, B URREN—EE, BN b%ﬁf&@ﬂﬁﬁ%“?ﬂﬁ
W BRI FERERRIEKE, ZEAE 302484, BEREFEFH R 120008, & LT
RAEHBE IMERR, RERBAEX, RALBEEHEREE, RAEXRATKERE X, ¥4
WHEERERESERELADR, EXER  RERELEE R, GAMNASTOEAINEBEA—KREIA,
(HEPRXBE , AR X HAXEE), EXEETIVENRMREERAEEFHREBEY
YIRS ,

EFER,ATRARFELFNAREEANEENRR . BRXN ARERZEALEET—EH
HRBK, RRT —RIIARERXM RERERN AR ZAEHTHE, UPRDUZER “L
BER¥EHWEK, Kb, BEABEBMRMEXELMOABME: A 1997 EERERELRAAEHL
TARKBME S PE , RBHEL LS NR R

B AR ARELH, RiEHB T

(DIEXH 04 & BREHRBE B —BRRRE;

(D 1—6 43 % .

BE85 = RIEXSMET B 6 + HEXLBA, Fin.

KBRS IT B K 6L & FEXEB A 34

Ba/4a=61—61+3=584,

FLBRAESMNGEET 8500 78 5y o EXXEBH 14

BR#®RH=78—61+4=76%

EXE MR K P OEE T -3,

AR 57 A ¥4 (Error Correction)

HE—HEBHRE BEEFEI(200 #F)FF 10 TG @A RBENY , 878 — 18
(AEHEBRAHR), WA ERHFRMEEMIREE. ERELELTERANRWER g
HUEHR, FEXMEINENER T,

310 88, Him D 15 404, BNRMRA¥EESEHETHRS,

2. KEFEIFEN AEKERFTER

FENEERKET 19954 7 AUKRBEERXAT, HE& Z%H,

S — &R ; BiF ( Translation from English to Chinese)

XA RHA RNEER ZER 4 ZESHE BEHNEAREERS S EXNAF(BE1E2
B), SBaE | ZE21M0F, BREEE IS4, BEEEPATEE XPHELEMNE, EHbin
ENBERASRANEEFEURREIRO P, ©EEEHMOREE T E 3B E A B IR 1B H
BE, UREHRMIEES 2T RS RS,

SRR, % 4 X H SN M A M A B ER SRR LR E R EXLEE,

F AR . AT S 2 (Spot Dictation)

X—HOoRELR TR AARSHEZAMG—MEER, U, EHLERETHAEX —E2HE, @8
R RBHH-BR 120 BEANEX, HHE 105 HL, SIATHARAMRER SERGF. £
XURFRERERAMENBER LR F— S RE MR, U EEXBTREIHE;
BORAETALH BN EREE, ERRZEERSERTBNASTHASHE; S SREF S, 4t
TAEBMBEERNERE S,

X—HABRERFEWHNES BRI RER '352!"]5’5&695&&3 E I RES A E .
EREEFSFHSWAERIBNECHE,

F=FEH : MARITT (Compound Dictation)’

XHBUARTFHERE"HH TR, EAFSEE —SLBHRENSH, CHERSER.F
FRiRfmk 5
FEXR(MEACHIAINGFLEBETR) AT URETHE BT ANASHTEOEE &8
FHEEH,

EXR-R 20 HEAWEX, PIERAS WERS"—H,MEN 15 5%, CEBNTELY
AR B B BERS(GA BB SR N URKEFANSE AR MAMERIES, FRAMY
(RX) 5 BB EEH AR S WAk kMR, ﬁﬁﬁtiﬁgﬁkiﬂﬂiﬁﬁo

FFHER . WEEE (158 ) (Short Answer Questions)
—_ H -




E—-MARHERNEERZE,RBESEX(RE)ZAN—HIEE BELHAN-BXEF
BSMERRAFERARENTT). BRE I5S4HRREZTLIGFEEHFRYRERGEATE
MAF, EXBRFRMEFEMNREREHHERNERER, URLACHERERMU S ERE
e, R :EAEFABLAFE AT , REFRAITRERNETF,

(Z) KFRIFM AREXEBE TS HE

EMHREANSEE, ERFENEGENNIRBEFT FEH— P REER, HFEZEBEK(Answer
Sheet) LB M5 FAER R . B8 (Test Paper) LR EMEEMIES . BEMABRE—MER, ik
Bk, ZWEFRFICH RBEN B, FEAME . EMEREHEREO TS FEITS. REEH
SHEA R R I BB E 6, LL 60 224 RAEIR#E, BB R R ERFRENRS
AARIES, AP 85 AN E"FH,

AEFRENEREINBIHEAR I ERBEFIROT:

Fe  EBE BWS B BEE 4 Xk 6t ]
1| 1—20 Uiy 208 20 4 20 534
T | 21—40 Dy 20 8 40 4 35 44k

| 11—70 | EiEAEMEEEH | 308 15 4 20 4r5h
V| 71—90 SEWHEE 2048 10 4 15 4r4h
Vv 91 HXEE i §:) 15 4 C 3044
91 i £t 100 4> 120 4%
ABEREAZREINBIAOFEEY . ToMERFEFIRMT:

IF5 B5 -3 . BEB o ik 6t 8]
I | 1—=20 Uigrap: § 3 20 /8 20 & 20 5

- 11 | 21——40 EIRE Y 20 & 40 4y 35 434h

HI| 11—70 | WERAEMELSEH | 308 154 |- 20 435
V| 71—90 LA 20 & 10 4 15 4r4h
\Y 91 HXEHE 153 154 © 30 a4k
81 /& £ | 1004 120 44k
=HEHEENE Y. T ERRET RO
HBEREWRK BE¥R | e %A 6]
HEEZ 10 &3 10 4 10 4r-%8b
24K E 108 10 43 15 o4
FEW ABSE 04 | 15 534
fa % S5 10 4> 155348 .




iy (74 . £ 3 5
(—).Listening Comprehension( W /7132 %)

A RBIEAN BN ERANE - B, BHFREEFZROCENRASERAOEH, 55, BER
S VEEMA RS RN, RS ZEAN R MR, RB(RFFEZRAKENE, A IEHEX
WAGEEE ZEWEEKAE ISBEL, WEASNEGRBI AR ERTEHLFFEFRELO
8H, KX, U FARMNEBA, EMENIRP  EXAARAN IS, — MM, 1FREBEENERE,
WAHEMEBAHHESEFENT .

{1)Short Conversationf #5831 )

X — B  ERANMREEZIAT-—BF M GEENEFN, B XREMEBITEEINGE
BB H e AT AR R B 19, B AW AR P ERE BT, AR, YERmAEFR S5
A)At7:00 B)A1 8:00 C)At 9.00,D) At 10:00 8, AL HIMT X — R o] R X FRFM A, FTLIE
ey, REFERE XA E B HERE AR, BREEZRATRGEMHBIX— 5,
WHBEFITRER WIS FEAX -0 RBACEE4E9, B4 AT, i ol —
=

(2)Pascages( FEILIBRETR )

WX — A2 EEN, N YF TR MAF ,—RBINKE, “—IE KA, —dt, =faxd
HXETWE R R EEN LB, TiheEEAIMEL, XEREANE BEPHOHEDAL b
BERTIMA T @AM Bk, MENEEAT R FORRHFHE, CRE, AW RE,
— B ESCIR, —fh H i e S B R,

(3)Spot Dictation( IF SIS )

X --FFAA, XFEA RN —F 1204 AME X =68, H—EHANE=
I, WA S BTN E . BREERBITNARE 10 1%,50
AFEA R, FEUTE b BEE A R, R 9 R B R T B A BIR A9 B L 0.8 .

MOXFEEE, - EEERE - BREN  ABATES , ENEPHIAAERES
o fEMERE B TRBEATESERREMEASE, WESRES, BT EERF
BB BEERGAR S KB NESRME, mRBHXEKITLHAR, LN X
FELE LT, @ E B8 E X MmERE HIEHARIE,

(Z).Vocabulary and structure( 3L 5i8%)

KEFEREWM ANEHXONSELERBLL 30 MEH, HP UL EEBE 55 60%, 3 18
B, ECREN 40%, 3 R BB, NGB FHE,EEEE S 0%, 2 B8, ATREY
60% ,3t 18 iBMR,

BEREEFEALE4ZRELEHNEN, CROERYAFFAENLBELEHE., REH
X HFEEPEEENANE FEEHREL BMESURBEN AR MB RS R, EHiFAFE
REARIF I B AP NS — A EE, EEEERATANESROFEY., ERUESHENSE
EEEEEOHEAN, TEEHNINAEENBETRAR, .

MERAE,EFEEN SRR BB REBEENES, — kR, - MEBRE-1EE, B
BEMEEE, B BERTL, MO P ER, MM K, FUERSEERSE, EERESR
FRH WA BRI AT 200, 0 0 5% 8 B RE B R TR, B R S KRR, HILR
BEEMREENKAREFNLHEEREE, SEREREZHABAFTH(CREREEHAEY(1—6
8,2 5,000 R0, KREFEEFAEFRNICIZSEN I BERSEME A,

I AR KRBT LA B AT Lk 26 O A A2 s @ M2 @B 3R % @i 8 R
¥ ;OB BT XRBA K, R E R BN 2 B XX 2 H AT B2, R B A B
£1, .

(=) .Reading Comprehention( [JiEE %)

(RFRBMBEMARERKRR)E , ¥4 5B A 55 68, 190 Bk 50—80 i /4 4,
Y10 70 18 /440, BB ERTE R T0% L E. B RESTES N ARERNLRBTE, AY
BEIR BT 5 80k 40 47, B AN RE S EA 13, BiEERNaEE h U U EA R, WK SR
1000—1200 7], /N B 1L AETE 1200 — — 1400 18], BoR B4 35 M2 NI X &E, F EHEX
WAHAE5EXAFTEXBETERLE,

_._IV_



ERBCHE AR, AW AR, S AER N RFAEEIR, HRERRREN
AEFR WERERGEES ARRN T RERAE S,

RiEBAMEHOHLMERRE. XAFHRER:

(EERE

EHFREEREE AETEXENEEEE ERERSNNXRET TREZFNU S . EERA
SE, AEERNRANLEEZ -ENXEFBRENEEIER, '

BB . »

BT REFEE, —RH, XEREFN I - REXERBEENH LBER,

‘ ST mEmagh TEEAE, MRECERETE P AR T8, %54 TR X 6
BORAMES X EHPLER,

(2)ELHngmTs

HREEHTERGRA PO mﬁ@l’ﬁ%éfﬁf#iﬁ% — B, fBLTEUﬁ"?Eé)‘CB’JV‘]éﬂ
FRLLR A S PO BEEXNWEINEYT, —NFAEEZLRSRTIHBE, RAER , 8 thE
MR8 % RERICIUEIL S, '

RERBLAAFTHREEHA: —FRERREXEPHTESLRAY EEERETEEER
5 who.when.where whi¢h 5% why B X8 E THAY . F— M EAFAERMABEREE LT PREY
K, BEBHHBERMBPE except. nut(menhoned/true) least % ,,

(3)IRICMGEIFTE N

Tlﬂu}:‘.’éﬂtﬂqﬁf*lME’%’XJVTJ&VTJQHB’J}EW XU R WA A IR R . B
KA, A BYNC ERBNIEN T, LAMARNE LA REIREOERE LT XRRHN. B AR
ATLARRYE BT 30, H MU R A R AR S IR E SN E X,

(4) e HERFOS]|

AW EEESNFLER-FXETHEE, BHENEREEFEATRANFTZE EEHTR
S EREEAMNSETAEES, X WAFEEMTS ¥ LOEE, XXREHEREEENEDS
S| AR AR S E TR AR R B R R B SGEAT A A A X ENE— BN AR
B AN REEBRREMESENIRIES,

(S)MEMEFHR R EBNSE

XK EE 5 E— %W%@%nﬁlﬁlﬁﬂﬁ*&iﬁ%k%@@o E&X R BE AREREIRSD
EEESMEEEEORS EENSE. IFESAHREENRE BESHNANE . FFTHRE,
g MEENEIHEMFERMEEFEEENSXNEENE S BFH X, B, X EHBERFANRES A
EREETENE SR, M EEREEENRS EBAANSE,

(W) HZEFEN BERESEHIRS
1. Translation from English into Chinese(Z&iEiX )

LERERFEN AR K0T 1996 FEARIE ML PR EEARFHES —FECHHEEFN,
SEH 10%, LS A NIESHAE S, XOEMEFOERE SN BEEHUREBENTE
FTEWEES s XR—-TIE4ERBKFHEESBE,

RFN T MR ERBEBL G, BREAH 4 HHEEERE P VLN THERIE,—
H4—55, - REBBEPRAEINSRIORF BEREXPRKOMBBYESRE PG
FOAEAA ENEAR . BED . GRAD . ERREEEH, UREERIARRE IRNAEEEET
2T ﬁﬁ:TIE‘J%ﬁHL Pl (2 4 i A T

KEFFN NRWE P RPN FXHEREBRNA %B@ﬁﬁﬁ‘]ﬁ%%‘?ﬁ B HEB

ﬁéﬂjﬁﬁijl«lﬁ%ﬂm WiBEREHBEAEANEE,

(1)Ef%

HEEMHRRIXOMIR, WA S, 2R N0 S B D S B AR A 4 R, B, 3 A A iR
B, WA, X ERE, ﬂﬁgiﬁlﬁﬁllﬁﬁ‘ﬁmifﬁgﬁﬁ,#Fﬁﬁsﬁfﬂuﬁﬂ@iﬁ@
[T, B ENREREER RS ATHER, BHE B RS, B TR R LT
HEREMNE AR, EFFEMTURAIUEE NOZEINXR, LEMBEERZ TR
Hf, BRSSO FOESAES, RAE REREE By ER0%EETR PR
O IS EAMEAIRENXECEESFONRERE, PEE—PES, —PHITSEARTZM,
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(2)iERIE

EAE LRBZBEER - B 0]EF F 8R40 8 i A0 R 28 38 4 A 90 40 0E A9 I35 B 5 3 T
Rikthik, EX—-Wr&, BERELNFNDEMFOZH,FS HE5EENEE, URESHHER
MEAMERSFOSERBFANEMNEEANMEEIR, UEXHNREFTRAFESNEIR
B, RN ELETFEXNEN , ERNEERNETEXNELAER, AZEIXNENRAME R, X
THEER RBEMESAREREZMIRT B4 EAN T EMARRE N —L 30075, %
BBEEHEANN REZRELEN, BFHESICIRES, M REXRHHEmMA s, BATRN,

(3) L

BERBYKBAGER AR Z A, X BRI GEITIF AT, X R30S Sﬁ-iﬁx&ﬁﬁﬁ&o
MEREFRBRZAEMEAITE, ARHEEXHEXETER, ERERANEEE, REEM, 5
ERGEFEE, MRADEHAE RFAEH ST ATF,HABOFHE, A FEBEBAERNE, BESE
BEAWME, NFHNEBRBE IR, F0EH, B HEE,

2. Short Answer Questions( 842 9] &8 )

MMM HEREENERRE . - B XESE AN BRI RBN O T XEESHFPE. 8
WA UG R & B A TE 1S 4 a9at R S22 U H B A SR iEES T A ey B s #h 2
AEBMEF, BT, KT ENERNRYENGESRN. ENEIHMNER, 5ELTHEKX
EREEERAIEN BANBRFEERHNRFE MR ERAM ORI EREE N 2L UTASE—F
By R RE TR R AN B E R —EES O BB TR RE N . BTN & XA
[R5 H , B 5E R B A [R] B4 S8 e 70 0 B 2 R o J6] 1 ,

BT EREHE LN LE, RLRE RN BRAFHEBEER, UEMENRERE XL, REBRE
lﬁ]uul‘ﬁﬁﬁﬂf&ﬁ@fﬂ%ﬁﬂzmﬁﬁxﬁﬁﬁﬁﬁﬂkﬁ?ﬁﬁlo:ﬁﬂl'ﬂﬁ@%@ﬁﬁﬁﬁ%:“%%"ﬁf&
B, A—6R"GEE, "HEE NEREXEFRERNFEXN LAERBRHEMUSEHE, REES
BE A EREXELMATBEER, "Z4H"EEEMEIILOER— &ﬁgﬁﬂgklﬁﬂﬁmﬁ-o
ALY KELER, ANFRITEGSHPOER, #TEANSH. G, EREHTLEREE
HEZE IS,

C MRERATAEROEGT, AEBPEX, EXANONTE, ABE IO ERFHE, R
BEEEAHH M ERRARENEEEE, S FEELXHNE NBFEEREX K8, —FTEXE
BYXEBEABRGHATE, - M XRAY BRXERED RN EIERET, 8 RE X
BEMOERANRTAREREN, B L T XRENBIRESKZERER, ST RERITES
S, BHEmEn, ﬂu%%ﬁﬁ$ﬁiﬁ?§'§,ﬂ%ﬁﬁﬁﬂ*ﬂ%‘l}iﬂ%ﬁﬁﬂﬁ HEHE EWMET X
HREEEXE,

ﬁ)ﬁ,%ﬁif%gﬂiB‘J%‘%'—zjl‘ﬂ@&ﬁ*ﬁi—%,ffﬂ%ﬁgﬁﬂﬂﬁﬁ%ﬁﬂfﬁ;ﬂﬁﬁﬁ%@
BB, LMESCER AR, SANER, 2, AR ERERARBRER, X ERBEES
E#, MRAKREFHGFERED, B30 A ERBFTXHTEOING, MR BRIEKFERGEY,

3. Cloze( RIZIR =) :

AE¥EREBENEE RN REEASKEETUREEESERABETHWHRA. BHRIAI E% AiRE
BERAASFEFENAIR. XFRAERE S 200 ALEANEXPBEBH20/T, S H—E,
BEANNMEET, TBAEIRZNFTEANER OF L EH QS WHE ;L FXEK,

M FXMAE, BREEREXEMNATN L TR, FLAHEMXENRERF HEFRER,
B AR EBERE, THXERE, MEXENPLBRENTEAR, REBESTOTHF, BN
FIN FRHA NN EREMET XX RSETEAT, EHBESR, EX—3 B, N E
ETXWAKER BEXR2NEFRENAGEN, AHEERLEPEEZE, - FERAXEETE—
BB SRR ERAEEER, E XN E R RGN, AHATREAE BB LENENRATE
5L, AT PRI R R HE R e A AT S,

V (Writing( X B {E)

MRS FEREREXEARERTTE, EAMEEHAANARE S X ENHGRMEA B O
R, AEEHFER, AEiE, EEEUTILE:

(1) FFEEFA ,

FREEREXRBM LR —F ., REEFN AREXENEEEET REAX BREX.
KBEAEX BREX BEEX BE 5%, THF—MEH HERFEANEL, 0P Y.

_VI_



B EEN EEURRES, B KALS T FAER MEES $EBFS, USATFHFER
= g RXEAENRR BERE, UREERENAR,

(2)REESY

EMPIEXBY HAEEEMEF R, B REER AR RIZRER A% XA K0 RA
Tk, BEAARY, ORERL, XENKEEFSEENER,

B)EESEAR. XS

AL FBAR HIE GAH U R AR, B HEIE SRR .

(4)REEINE

BREFERUTINHTEH:ONEREEXRE,ORARBTER;QEBERSEHR;D
AARETHREOBEREHE,

PR % 3 6t 3o SCRRRY B % S 16 2 A X 681 S 69 30 4% , S4BT FL FRAF X 30 43 4h B4 B 6] (b 7 75
— B TSR B AT UHB I -

(D)4 508, TEXESGAE R ITHRORE, KRN,

QFF: L4, REXENRER SR, BR-E? R, GNREXESROTIKE,

()82 544, RESBROWSE L, 8. XH%,

(4)iTHE0 340, HIRERSNEATX . B RS, WERIMABRIT FENE, —SMAL
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Part 1 Listening Comprehension (20 minutes)
Section A

Directions: In this section, you will hear 10 short conversations At the end of each conversatum , a qus

tion will be asked about what was saird  Both the concer sation and the question wall e spoken
only once. After each question there will be a pause  During the pause, vou must 1 ead the
Sfowr choices marked A), BB), C) and D), and decide which 1 the best answer  Then mark
the corvesponding letter on the Answer Sheet with a single line thy ough the center

Example: You will hear:

()

You will read

A) At the office.

13) In the waiting room

C) At the airport.

D) In a restaurant.

Sample Answer [A] [B] €] [D]

From the conversation we know that the two were talking about some work they had to finevh i
the evening. This is most likely to have taken place at the of fue Therefore, A) “At the office,”
is the best answer. You should choose [ A] on the Answer Sheet and mark it wnth a single line
through the centre.

. A) At a gas station. B) At a railway station
C) In a drug store. D) In an airport
. A) The woman didn’t like to live in Wuhan.

BB) The man and the woman failed to live in Wuhan
C) The man didn’t agree with the woman.
D) The man and the woman couldn’ t get used to therr hife n Wuhan

. A) See his girlfriend. - B) Meet an important person
C) Attend a meeting. D) See a film
. A) The woman was not quite sure why there was <o much fog

B) They both loved the fog very much.
C) The man didn’t expect the woman to answer the question
D) They didn’t see the fog.

. A) He is going to teach business. B)He 1s studying business
C) He is enjoying reading good books. D)He 1s talking with his boss
. A) Renting a new apartment. B)Spendmg her holiday
C)Looking for a new job. D) Complaining to her friend
. A) At a department store. B) In a restauran
C) At the post office. - D) At the office
. A) She wants him to do the work twice.  B) She sympathizes with him

() He should work harder than ever. D) She doesn’t want to give him a hand
. A) The woman is an exceptional student in his class



B) The student will probably not be able to complete the term paper
C) Circumstances will permit the woman to hand in the term paper next week
D) The student’s request will be denied

10. A) He really likes it. B) He’s indifferent to 1t
C) He enjoys it. D) He cares about all the time
Section B

Directions: In this section , you will hew 3 short passages At the end of each passage you wrll hear some
questions. Both the passage and the questions wnll be spoken only once  After you hear a ques
tion , you must choose the best answer from the four chowes marked A), B), C) and D)
Then mark the corresponding letter on the Answer Sheet with a single line through the centre.
Passage One
Questions 11 10 13 we based on the passage you have just heard
11. A) Symbolising the authonty and stature of the president
B) The home and workplace of the president
() Hosting small receptions
D) A monument 1o American government

12. A) North entrance B) The first f](x‘>r of mamn building
) Blue room 12) None of the above
13. A) President James Monroe 13) Presudent Martin Van Buren
() President Bl Chnton D) President Geoge Bush
Passage Two
Questions 14 to 16 we based on the pasage you have just heard
14. A) In Bremerton, Washington B) In Pearl Harbor, Hawan
C) In Korea D) In the Persian Gulfl
15. A) In 1955 B) In 1986 C) In 1992 D) In 1998
16. A) World War 11 B) The Korean War
C) The Vietnam War D) The Perstan Gulf War
Passage Three

Questions 17 1o 20 are based on the passage you have just heard
17. A) The process of identfying the goods and services
B) The process of providing the goods and servicec
C) The process of 1dentifying and providing the goods and services
D) The process of purchasing the goods and services
18. A) Through advertising and personahized sales
B) Through better serving
C) Face-to-face
D) Installment
19. A) If they face competition from other fums
B) If they want to prowide better goods and serving
C) If they want to enlarge the market
D) If the goods are expensive
20. A) Installment B) Advertising C) Personalized sales D) My parents

Part II Reading Comprehension (35 minutes)

Directions: There are 4 passages in this part Each passage 1 followed by some questions or un finished
statements For each of them there are four chowces marked A), B), C) and D) You should
decide on the best choice and mark the corresponding letter on the Answer Sheet with a single
line through the centre.

Questions 21 to 25 are based on the following passage :

All the modern crops that we grow and eat today had to arise from just such wild plants. Unul the ap-
pearance of farming, every plant eaten by every human on Earth was wild. But what caveman ever got the
idea of “domesticating” a wild plant, and how was the transformation accomplished? That question seems es-
pecially puzzling for the many crops, like corn, that look completely different from their wild ancestors. After
all, the first farmers didn’t have any existing crop as a model for them to develop other ones.

Furthermore, why did those early farmers apparently find some plants so much easier to tame than oth-
ers? Peas, {or instance, were domesticated almost 10,000 years ago, but olives (B{##&) not until some 6,
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000 years ago and strawberries not until the Middle Ages. Even today many potentially valuable wild plants
remain untamed; among them are oak trees. Why did olive trees yield to Stone Age farmers while today oaks
continue to be beyond cur best and brightest botanists (¥ #J% % )? In searching out the answers to these
questions, I owe a special debt to Israeli geneticist{i# {5 % ) Daniel Zohary, whaose wonderful recently pub-
lished book, Domestication of Plants in the Old World, is the latest word on the subject. Let’s begin by look-
ing at domestication from the plant’s point of view. As far as plants are concerned, we humans are just one of
thousands of animal species that unconsciously “domesticate” plants.

21. Which of the following would be the best title of the passage?

A) How Were the Plants Tamed?

B) The Book Named Domestication of Plants in the Old World

C) The Famous Israeli Geneticist Daniel Zohary

D) An Introduction of the Book Domestication of Plants in the Old World
22. In the sentence “But what caveman ever got the idea of ‘domesticating’ a wild plant, and how was the

transformation accomplished?”, what is the explanation of the word “domesticating”?
A) Civilization. B) Revolution. C) Evolving. D) Taming.
. According to the passage, which of the following is NOT TRUE?
A) Today every modern crop that we grow and eat came from the wild plants.
B) Peas have exsisted for over 10,000 years.
C) I owe some money to [sraeli geneticist Daniel Zohary, whose wonderful recently published book, 1
mestication of Plants in the Old World, is the latest word on the subject.
D) Even today there are many potentially valuable wild plants untamed.

24. From the sentence “Why did olive trees yield to Stone Age farmers while today oaks continue to be be-
yond our best and brightest botanists?” we can deduce that __

A) Stone Age farmers were more intelligent than our best and bnghlesl botanists.

B) our best and brightest botanists are more smart than Stone Age farmers.

C) it is mysterious that Stone Age farmers could domesticate the olive trees, but our best and brightest

botanists can not tame the oaks.

D) why did olive trees surrender to Stone Age farmers while today oaks continue to defend against our

best and brightest botanists.

25. What kind of the writing method is used in this passage?

A) Argumentation. B) Explanation.

C) Desciption. D) Personification.

Questions 26 to 30 are based on the following passage:

Twenty years ago London could have claimed the title “Smog City, Eun)pe Three-fourths of its smoke
is gone now and the remarkable change caused by a series of killer fogs in the late 1940’s and early 1950°s

The worst of these settled over London on December 5, 1952. For four continuous days the city’s nor-
mal daily death rate of over 300, in all, some 4,000 extra deaths that winter were blamed on the incident.
More such fogs came in the winters that followed. Each gave pepole a big alarm.

In 1956 Parliament passed the Clean Air Act, declaring that factories and homes in critical areas of the
city must switch from soft high-sulphur(Bi#%) coal to less smoky fuels: hard coal, gas, electricity, or oil. In-
evitably there were economic problems and complaints, both to householders and to industries. But, with each
passing year, London’s air grew clearer. London has proved that the veil of smog can be cast off, but its suc-
cess story stands almost alone.

In sunny Spain, Madnd has joined the ranks of fog cities. In Italy, acnd from smog cuts into centuries-
old sculpture. And each rain here in Washington washes more acid onto our marble buildings and monuments.
The massive struggle to clean our air began so recently that victory seems far off. But we have taken an im-
portant step and we realize we must do something. In the frequently quoted words of Pogo, “We have met the
enemy, and he is us. ”

26. Which of the following can best describe the main idea of the article?

A) Killer fogs led to London’s air cleanup.

B) Things will develop in the opposite direction when they become extremly worse.
C) It is the turn for us to clear up the “Smog City”.

D) How to control the smog air.

27. From the sentence “In 1956 Parliament passed the Clean Air Act, declaring that factories and homes in
critical areas of the city must switch from soft high-sulphur coal to less.smoky fuels: hard coal, gas, elec-
tricity, or oil. * we can know that the aim of the Parliament was to o
A) get rid of the using of soft high-sulphur coal.
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B) show its power to people.
C) save money.
D) force people not 1o give out the polluted air.
28. The %ntence *London has proved that the veil of smog can be cast off, but its success story stands almost
alone.” can be explained as that
A) London has successfullly threw the air pollutnOn off, but its is a]mosl the only case.
1B) London has proved that smog can be-the veil, but its success story stands almost alone.
C) London has successfullly put on the veil of smog, but its success story stands almost alone.
D) London has successfullly got rid of the veil of smog, but the veil stands in the world lonely.
29. A cording to the passage, which city’s marble buildings and monuments are suffered pollution now?

A) Washington. 13) Madrid. C) Rome. D) London.
30. The article was probably published in __

A) Britain. B) Spain.

C) laly. D) The United States.

Questions 31 1o 35 art based on the following passage :
The invention of writing is undoubtedly one ol the most important inventions in civilization in fact,

it is almost synonymous with civilization. Introduced by the ancient city-states of the Middle East around 3000
BC., wnting made possible a host of important functions. It enabled merchants to better remember sales busi-
nesses, it enabled priests to systematize religious practices and, theology(# %), and it enabled civil rulers to
promote ruling and laws. Although agricultural, economic, and military practices were as important as writing
if not more important in the rise of early civilization, writing played a significant role in coordinat-
ing resources and creating political and cultural unity. Written laws carried by conquering armies expanded and
enforced the power of specific rulers, such as the Egyptian pharachs(#). The rise of a social class of writ-
ers also gave many of the earliest societies their first discriminated social systemis, and it helped force absolute
rulers to establish systematic principles of rule and law. In ancient Egypt, even the notices used o expand the
power of the pharaohs, they demanded some of that power for themselves, both-extending and telling the ab-
solute rule of the pharaohs at the same time. :
31. The main purpose of the passage is

A) to tell people the importance of the writing

B) 1o introduce the invention of writing

C) to show us the power of the Egyptian pharaohs

D) to give us the impression on the importance of invention of the writing
32. Which of the following can NOT be known from the passage? .

A) Introduced by the ancient people of the Middle East around 3000 BC, writing has & lot of important functions.

B) It enabled businessmen to better remember goods on sales

C) It enabled priests to make religious practices and theology systematicalo

D) It enabled civil rulers to be promoted more quickly. ;
33. In the sentence “Although agricultural, economic, and military practices were as important as writing
if not more important in the rise of early civilization, writing played a significant role in coor-
dinating resources and creating political and cultural unity.” The word “coordinating” probably means

A) adjusting B) operating C) collecting D) picking up
34. The example of the Egyptian pharaohs helped .
A) illustrate the written laws’ role B) show the writer’s role
C) explain the crude domination ‘D) enforce the function of the writing

35. The sentence “The rise of a social class.of writers also gave many of the earliest societies their first dis-
criminated social systems, and it helped force absolute rulers to establish systematic principles of rule and
law.” can tell us that
A) in the early time the writer had become a ruler.

B) in the early time the ruler helped the writer to become a social class.
C) in the early time the writer formed absolute ruling of the systematic principles of rule and law
13} in the early time the writer contributed a lot to the rulers.

Questions 36 to 40 are based on the following passage :

Major league baseball enjoyed widespread popularity. during the early 1900s. People who attend at games
expanded, and the World Series became one of the leading annual events.in sports.
Qutstanding players such as Cy Young, Christy Mathewson, and Ty Cobb emerged as national stars.

Owners responded to the prosperity by building larger, more modern fields. Baseball s suecess also brought dif-
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ficulties. Many players argued that their salaries were too low, and the players’ union tried unsuccessfully to
change the situations. But baseball faced its greatest challenge following the 1919 World Series, in which the
Cincinnati Reds defeated the Chicago White Sox.. The following year, seven Chicago players were banned
{rom baseball for intentionally losing the sertes in exchange for bribes from professional gamblers. An eighth
Chicago player was banned because he knew of the plan but did not report it. This scandal beverely damaged
baseball’s public image.

Baseball’s reputation recovered, however, under the leadership of its fll’St commissioner, a federal judge
named Kenesaw Mountain Landis. Several other factors also contributed to baseball’s renewed popularity dur-
ing the 1920s. The development of the more lively cork-centered(#X A L) ball led to an increase in home-run
hitting. Babe Ruth, who joined the New York Yankees in 1920, became one of the greatest home-run hitters
of all time. Many hitters imitated Ruth’ s style, and baseball developed into a higher sooring and——1o nany
fans NIxe excitng gane.

The growth of baseball continued into the 19303, when radio broadcasts of games bemme common. The
first major league night games were also held during the 1930s, enabling fans to attend games after work. In
1939 the National Baseball Hall of Fame and Museum was opened in Cooperstown, New York, to display
baseball memorabilia (FKHIE) and honor the game’ s greatest players.

" Baseball suffered during World War 1 (1939-1945), as hundreds of major league players were called 10
military service. After the war, baseball began 10 grow again. Veteran stars such as 13ob Feller, Joe DiMag-
gio, Hank Greenberg, Ted Williams, and Stan Musial returned from military service 1o the major leagues.
Night baseball games resumed, and attendance at gamta swelled. In 1946 viewers in Boston observed the first
television broadeast of a major league game.

36. With what subject is the passage mainly concerned? :

A) Growth and Prosperity of the Baseball B) An Introduction of the Basebalt

() Baseball History D) A Fantastic Game
37. Which of the following can NOT be looked at as the baseball’s difficulties during the dévelopment?

A) Many players argued that (heir income was 100 low, and the players” union failed 10 solve the problem.

B) The event that eight Chicago players were banned from baseball for gambling .«:everely influenced base-

ball’s image to public.

() The invention of the more lively cork-centered ball led to the prosperity of baseball.

D) Many hitters liked Ruth’ s style, and baseball developed into a h:gher scoring and

fans more exciting game.
38. In the sentence “This scandal severely ddmaged baseball’ s public i mmge ", the word “scandal™ probably
can be explained as . R !

A) shameful thing B) phenomenon + C) punishment D) event
39. Which of the following did NOT happan in 1930%‘7

A) In the 1930s, the radio broadcasts of games became common so the growth of: baseball o:)ntmued

B) Baseball fans could watch the games after-work because-the first major league night games were held.

C) In 1939 the National Baseball Hall of Fame and Museum was opened in Wmhmgton, New York, to

display baseball memorabilia, and honor the game’s greatest players.

D) During the 1930s, the baseball games continuously developed forward. .

40. In the sentence “Baseball’ s reputation recovered, however, under the leadership of its first commissioner,

a federal judge named Kenesaw Mountain ‘Landis.” The word “commissioner” can be replaced by

10 -many

A) committeeman B) leader C) founder D) priest

Part II1 Vocabulary and Structure (20 minutes)

Directions: There are 30 incomplete sentences in this part . For each sentence there are four choices marked
A), B), C) and D). Choose the ONE answer that best completes the sentence. Then mark
the corresponding letter on the Answer Sheet with a single line through the center .

41. The poor mother - _ the teacher to forgive her son..

A) enjoyed B) enlisted C) begged D) entreated
42. Youhave _______ _ several of the mistakes in this work.

A) overheard B) overestimated C) overtook D) overlooked

43. We must try our best to save the raw material of our products. Otherwise the high cost will
our profit.
A) cut off B) cut short C) cut in D) cut down

44 . Fresh air is 1o goud health.




